> with(inttrans) :
> laplace(sin(4-t),t,s);
4

sS+16
> laplace(diff (y(t), 1) =3-y(t) +exp(-1), 1 5);
slaplace(y(t),t,s) —y(0) =3 laplace(y(t),t,s) +

s+ 1
> solve(%, laplace(y(t), t,5));

y(0)s+y(0) +1

(s+1) (-3 +s)

> invlaplace(%, s, t);
-t 3t
et @N4p0) +1)
4 + 4
> del =diff (y1(t),t) =-4-y1(t) —y2(t) +2-exp(?);
de2 == diff (y2(t),t) =y1(t) —2-y2(t) +sin(2-1);

del = % yI(t)=-4yl(t) —y2(t) +2¢

de2 = % v2(t)=yl(t) —2y2(t) +sin(2 1)

> eql = laplace(del, t, s);

eql = slaplace(yl(t),t,s) —yl(0) =-4 laplace(yl(t),t,s) — laplace(y2(t),t,s) + 1

> eq2 := laplace(de2, t, s);

eq2 = slaplace(y2(t),t,s) —y2(0) =laplace(y1(t),t,s) — 2 laplace(y2(t),t,s) + 2 .
s+
> soln == solve({eql, eq2}, {laplace(y1(t),t,s), laplace(y2(t),t,s)});

soln == 1laplace(y1(t),t,s) = - ! ( -y1(0) st

(" +65 +135+245+36) (s—1)

+32(0) 8 —y1(0) s> —y2(0) s> —2y1(0) s> —25 +412(0) s —4yI(0) s —4 5

—4y2(0) +8yI(0) —6s5— 18), laplace(y2(t), t, s)

= ! (2(0) s* +32(0) s +y1(0) s —y1(0) 5

(S4+6S3+13S2+24S+36) (s—1)
+122(0) s+4y1(0) s+45 —16y2(0) —4y1(0) +65)

(> Y1 = rhs(soln[1]): Y2 = rhs(soln[2]):

Y1 - I (-p1(0) s* +2(0) 8 —y1(0) 8 —2(0) §°

(S4+6S3+1352+24S+36) (s—1)
—291(0) S —25 +4y2(0)s—4y[(0) s—45* —42(0) +8yI(0) —65—18)

Y2 = I (y2(0) s +3 2(0) 8 + y1(0) * — y1(0) &

(S4+6S3+13S2+24S+36) (s—1)
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i +12y2(0)S+4y1(0)s+4s2—16y2(0)—4y](0)+6s)
> inviaplace(Y1, s, t);
3¢ 12 cos(2¢)  Ssin(21t)

10
8 + 169 169 (10)
(-1352ty2(0) — 1352 ¢y1(0) +1352y1(0) +468 t —603) e 3!
+
i 1352
> inviaplace(Y2, s, t);
t .
e 38 cos(2 1) 44 sin(2 t)
—_— — 11
8 169 + 169 an
n e 3! (1352 ¢y2(0) +1352¢tyI1(0) +1352y2(0) —468 ¢+ 135)
1352




